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From the diverse growth experience of various countries

illustrate that economjc convergence need not necessarily entail
convergenct in institutional forms. 15
ﬁfméﬁﬁ%ﬁmm%ﬁﬁu FVEl ¥ TR Hif
%aﬁ?ﬁmaﬁwa?fﬁqwaaﬂwww
T R

Comment on the validity of the following statements with argu-

ments in support of your answer :

(@ If a relatively poor person loses income to a relatively

rich person, the mean absolute deviation must rise.

() The income - gap ratio and the head count, as measures
of poverty, may lead to very different uses of antipoverty

resources - by poliéy makers.

(©)  The poverty gap. ratio and the income gap rat;o are

insensitive to inequality among the poor.” 55.5
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Corruption is a worldwide phénomenon. Discuss the mechanisms
which lead to the origin of corruption. What are the factors which

determine the level of corruption ? Elaborate. _ 15
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(@)  The simple Harrod-Domar model provides no reason why
growth rates systematically differ at different levels of

income. Explain,

) -Explain how the endogeneity‘of :
() population growth and
(i) - Savings,

alters the implications of this model. ' 5,16 -
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Priya and her three sisters own a farm n rural Tamil Nadu. The
value of .their output is Rs. 4,000 which they divide equally.
The urban sector offers informal jobs at Rs. 500 and formal jobs

at Rs. 1,200. The. probability of getting these jobs ‘depends on

P.T.O.
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the proportion of such jobs to the urban labor force, exactly as

in the Harris-Todaro model.

(@)  Assuming that Priya compares her expected returns in
the two sectors and migration is . costless, calculate the
threshold proportion of formal jobs to urban labor force

that will just deter Priya from migrating.

"(b)  The production function in Priya’s farm’is given in_the

following table :

Number of Working on Output (in Rs.)

Farm
One sister 1,500
Two “sisters 2,500

rhree sisters 3,300

Four sisters 4,000
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Supposing that Priya and her sisters seek to maximize
their total family income and the threshold proportion
that you derived in (a) prevails in the urban sector,
prove that Pﬁya will migrate. Will any of Priya’s sisters

_also .wish to migrate ?

(6  Briefly explain the economic reasons to cortrast Priya’s
decision -in (a) and (b). 5,'5,5"
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Suppose a landlord provides a loan to a laborer where underpriced

lab‘orl as well as interest can be charged as repaymént for the_'

loan. Show that the loan will be advanced at the oppor;unityvéost

of the lender and all interest will be'charged by underpricing

lab(;r. 15
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Given that labor is the only asset. Derive the individual.
Tabor supply curve in the nutrition based model of. the
labor market and explain why it exhibits a.d'iscon'tinuity.
Sho_w that the labor market equilibriurﬁ in this model can
- generate iﬁvolunta_ry unemployAment if there is a relative
abundance  of labor  supply to labor |

demand.

(b)  If peoplée have other sources of income and the minimum

wage at which a person will be willing to work increases with

nonlabor income, derive the aggregate supply curve of labor.
Shbw.that there isn’t nnecessa'rily a conflict between equality
seeking moves (e.g. land reforms) and Increasing aggregate

output in a resource poor economy. 78
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If poor people consume a greater proportion of products inten-

‘sive in unskilled labor (relative to physical and human capital).

show that international trade between rich and poor countries
will be lower than that predicted by -the Heckscher-Ohiin
model. 15
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